GRAND CANYON UNIVERSITY





2024 **Equity in Athletics Disclosure Act Report**

GENERAL INFORMATION

3300 W. Camelback Road Phoenix, AZ 85017 Phone: 800-800-9776

Reporting Year: July 1, 2023 - June 30, 2024

ATHLETIC DEPARTMENT INFORMATION

Assistant Athletic Director, Finance: Micah Meyer Grand Canyon University Athletics 3300 W. Camelback Road Phoenix, AZ 85017

Phone: 602-639-7086

NUMBER OF FULL-TIME UNDERGRADUATES: 24,995

Male: 9,973 Female: 15,022

SANCTIONING BODY:

NCAA Division I (without football)

PARTICIPANTS

Athletics Participation

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS
Baseball	40	0
Basketball	15	20
Beach Volleyball	0	26
Golf	12	10
Soccer	35	38
Softball	0	26
Swimming and Diving (combined)	26	23
Swimming	20	21
Diving	6	2
Tennis	10	9
Track and Field and Cross Country (combined):	173	110
Track and Field (Indoor)	78	49
Track and Field (Outdoor)	78	49
Cross Country	17	12
Volleyball	23	21
Total Participants	334	283
Unduplicated Count of Participants (Number of individuals who participated on at least one varsity team)	239	222

COACHING STAFF AND SALARIES

Head Coaches – Men's Teams

	MALE HEAD COACHES				FEMALE HEAD COACHES				TOTAL
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Head Coaches
Baseball	1		1						1
Basketball	1		1						1
Golf	1		1						1
Soccer	1		1						1
Swimming and Diving		1	1						1
Tennis	1		1						1
Track and Field/Cross Country		1	1						1
Volleyball	1		1						1
Coaching Position Totals	6	2	8	0	0	0	0	0	8

Head Coaches – Women's Teams

	MALE HEAD COACHES					FEMALE HEAD COACHES			
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Head Coaches
Basketball					1		1		1
Beach Volleyball					1		1		1
Golf					1		1		1
Soccer	1		1						1
Softball	1		1						1
Swimming and Diving		1	1						1
Tennis					1		1		1
Track and Field/Cross Country		1	1						1
Volleyball	1		1						1
Coaching Position Totals	3	2	5	0	4	0	4	0	9

HEAD COACHES' SALARIES	MEN'S TEAMS	WOMEN'S TEAMS
Average Annual Institutional Salary per Head Coach	291,178	121,670
Number of Head Coaching Positions Used to Calculate the Average	8	9
Number of Volunteer Head Coaches	0	0
Average Annual Institutional Salary per FTE	332,775	136,879
Sum of FTEs Included in Average	7.00	8.00

Assistant Coaches – Men's Teams

	MALE ASSISTANT COACHES					FEMALE ASSISTANT COACHES			
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Assistant Coaches
Baseball	3		3						3
Basketball	5		5						5
Golf	1	1	1	1					2
Soccer	2	1	2	1					3
Swimming and Diving	0	5	4	1		1		1	6
Tennis		2		2					2
Track and Field/Cross Country		8	4	4		2		2	10
Volleyball	1	1	1	1					2
Coaching Position Totals	12	18	20	10	0	3	0	3	33

Assistant Coaches – Women's Teams

MALE ASSISTANT COACHES					FEMALE ASSISTANT COACHES				TOTAL
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Assistant Coaches
Basketball	2		2		2	1	2	1	5
Beach Volleyball	1		1			1		1	2
Golf					1		1		1
Soccer	2		2			1		1	3
Softball					3	1	3	1	4
Swimming and Diving		5	4	1		1		1	6
Tennis		1		1					1
Track and Field/Cross Country		8	4	4		2		2	10
Volleyball	1		1		2		2		3
Coaching Position Totals	6	14	14	6	8	7	8	7	35

ASSISTANT COACHES' SALARIES	MEN'S TEAMS	WOMEN'S TEAMS
Average Annual Institutional Salary per Assistant Coach	77,888	47,474
Number of Assistant Coaching Positions Used to Calculate the Average	24	26
Number of Volunteer Assistant Coaches	9	9
Average Annual Institutional Salary per FTE	106,818	63,299
Number of FTEs Included in Average	17.50	19.50

REVENUES AND EXPENSES	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL						
ATHLETICALLY RELATED STUDENT AID									
Amount of Aid	2,398,700	3,388,871	5,787,571						
Ratio (percent)	41	59	100%						
RECRUITING EXPENSES									
TOTAL	357,436	258,670	616,106						

Operating (Game-Day) Expenses - Men's and Women's Teams by Team

	MEN'S T	EAMS		WO	TOTAL		
Varsity Teams	Participants	Operating Expenses per Participant	By Team	Participants	Operating Expenses per Participant	By Team	Total Operating Expenses
Basketball	15	89,712	1,345,686	20	53,904	1,078,085	2,423,771
Baseball	40	18,411	736,448				736,448
Beach Volleyball				26	8,957	232,879	232,879
Golf	12	14,491	173,890	10	14,008	140,084	313,974
Soccer	35	10,729	375,529	38	9,125	346,739	722,268
Softball				26	15,570	404,816	404,816
Swimming	26	10,466	272,105	23	10,466	240,708	512,813
Tennis	10	11,766	117,658	9	19,313	173,814	291,472
Track and Field/ Cross Country	173	2,554	441,910	110	2,524	277,610	719,520
Volleyball	23	12,073	277,686	21	17,786	373,510	651,196
Total Operating Expenses	334		3,740,912	283		3,268,245	7,009,157

Total Expenses - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Basketball	6,723,378	2,478,987	9,202,365
Baseball	1,865,485		1,865,485
Beach Volleyball		597,786	597,786
Golf	509,851	487,758	997,609
Soccer	1,287,181	1,197,053	2,484,234
Softball		1,286,985	1,286,985
Swimming and Diving (combined)	750,782	837,814	1,588,596
Tennis	371,734	562,572	934,306
Track and Field/Cross Country (combined)	992,993	916,188	1,909,181
Volleyball	730,763	1,283,086	2,013,849
Total Expenses of all Sports, Except Football and Basketball Combined	6,508,789	7,169,242	13,678,031
Total Expenses Men's and Women's Teams	13,232,167	9,648,229	22,880,396
Not Allocated by Gender/Sport			7,748,518
Grand Total Expenses			30,628,914

Total Revenues - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Basketball	6,723,378	2,478,987	9,202,365
Baseball	1,865,485		1,865,485
Beach Volleyball		597,786	597,786
Golf	509,851	487,758	997,609
Soccer	1,287,181	1,197,053	2,484,234
Softball		1,286,985	1,286,985
Swimming and Diving (combined)	750,782	837,814	1,588,596
Tennis	371,734	562,572	934,306
Track and Field/Cross Country (combined)	992,993	916,188	1,909,181
Volleyball	730,763	1,283,086	2,013,849
Total Revenues of all Sports, Except Football and Basketball Combined	6,508,789	7,169,242	13,678,031
Total Revenues Men's and Women's Teams	13,232,167	9,648,229	22,880,396
Not Allocated by Gender/Sport			7,748,518
Grand Total Revenues			30,628,914

Summary - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Total of Head Coaches' Salaries	2,329,424	1,095,030	3,424,454
Total of Assistant Coaches' Salaries	1,869,312	1,234,324	3,103,636
Total Salaries	4,198,736	2,329,354	6,528,090
Athletically Related Student Aid	2,398,700	3,388,871	5,787,571
Recruiting Expenses	357,436	258,670	616,106
Operating (Game-Day) Expenses	3,740,912	3,268,245	7,009,157
Summary of Subset Expenses	10,695,784	9,245,140	19,940,924
Total Expenses for Teams	13,232,167	9,648,229	22,880,396
Total Expenses for Teams Minus Subset Expenses	2,536,383	403,089	2,939,472
Not Allocated Expenses			7,748,518
Grand Total Expenses			30,628,914
Total Revenue for Teams	13,232,167	9,648,229	22,880,396
Not Allocated Revenues			7,748,518
Grand Total Revenues			30,628,914
Total Revenues for Teams minus Total Expenses for Teams	0	0	0
Grand Total Revenues Minus Grand Total Expenses			0

Additional information regarding athletic data can be found at http://ope.ed.gov/athletics/